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Chapter 10 & 12: States of Matter & Gases Study Guide

1. A sample of oxygen gas is collected over water at 22°C and 0.974 atm pressure. If the partial pressure of the water is
0.541 atm, what is the partial pressure of the oxygen?
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2. A gas storage tank has a volume of 3.5 x 10° L when the temperature is 27°C and the pressure is 101kPa. What is
the new volume of the tank if the temperature drops to -10°C and the pressure drops to 95 kPa? Identify which law is
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4. A gas occupies a volume of 0.7 L at 10.1 kPa. What volume will the gas occupy at 101kPa? Identify which law is used
to solve this problem.
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5. [f the heat of fusion is 32.2 kJ/mol, what amount of heat energy is required to melt 5.67 grams of FeO(s)?
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6. Why does the pressure inside a container of gas increase if more gas is added to the container?
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7. What are the major assumptions of the kinetic theory?
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8. Describe the relationship between temperature, kinetic energy, and movement of particles.
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Describe the relationship between temperature, gas particle collisions, and pressure.
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What happens to the pressure of a gas inside a container if the temperature of the gas is lowered? Why?
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Why does air leave a tire when the tire valve is opened?
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Describe the boiling point and its relationship to external pressure. ,,
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Which phase changes are endothermic?
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Describe the relationship between temperature and pressure keeping volume constant. Is the relationship inversely or
directly proportional? Identify the law. Draw a graph that represents this relationship.
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Describe the relationship between temperature and volume keeping pressure constant. Is the relationship inversely or
directly proportional? Identify the law. Draw a graph that represents this relationship.
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Describe the relationship between volume and pressure keeping temperature constant. Is the relationship invers
directly proportional? Identify the law. Draw a graph that represents this relationship.
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